EELE445-S15 Homework Assignment 1- 10 points

Grading:
e -0.5 point per error
Set | Problem Principle
1 1.4 point to point tower
1 1.5 LOS Cell Tower
1 1.9 Binary system Entropy
1 1.12 Information rate
1 1.16c | Telephone line information rate
1 2-4 Rms, power,DC of a waveform
1 2-5 Energy of a waveform

y
tec 2d= 30miles = Qm 2 #‘CZA.)"‘(%)
> h=B0)78 = 12.5F1
1.5 1d,=2h={2000) = H.l%m Az.-zt,-im 2.83 m les
————" Total radilhs DF coverage = ditd =i j442.83 = 16.9 miles

st - '
1-9 Let p=prk. v\'- sending o hmwyl
@ Pa< probs ¥ Seading « binary 0 = |- P

H=§ AL = gl + G- bogs i)
= 1k [-plnte) —0-4) I U-p)]
%, o D = Unpi) = (CDlat-k)+ 12 ‘('J) =0
y ~lap HI-p) M=o
or \n(—%ﬁ‘—'-} =9 =inl

Th t"‘il 3 A= '_]_ = b1

Qﬂ HMM; %:‘“111 "'Klﬁji_}‘a‘ill -L‘_______'i_. b”-

112 | m= 10 Pl el y= (Lo R=_1H -3k
3 |O T £
He= 100l | 3322 kit
a2
T= H = 3322 bits ) g =T

Page 1 of 2



EELE445-S15 Homework Assignment 1- 10 points

1-16

(C) B=3200-300= 2950 S R= (290 (14.949)= 43 35 klik/c

[ 5 0 ! ;
9 .._..]; | i b

i) —go ).c».f(wpt},it“ﬂT |<T} ki

0 ;'ée!whue, I -E
(b.) g 24
R A Sy SN O L )
- P
2, n(E-E)
et = b
-~
= s j,{-;;_% = 2/03wlh
i
P Iy=F-5 22 = 0.0 A
G0
2-4. Comtld (¢ V =P = _L{ il = g- leﬁ{iaft
3 Vm,%f LT+ st - 42 [+ B |
R
_ gt vr
& = ]
> y,,m:_g.e_r-f;— = Sults rus
Lrai :'I;f“ = % = Q-] amps

{ ) ?)" [\'P(“U> V}-sm Ih.q- (5](0.[) D—Fufaﬂf

2-5 -R'B‘J'-ﬂ'ﬂﬁg + Fob 2-4 (J) 3 P=0.5 welh

| > .EH&&V < PT = (9'5%5*’)?@%&] = [ § 00 vwley

Page 2 of 2



